2IX2 7" '01n 2,2y naw .7"'02

When he assumes it is permitted — N1 NRIN2

OVERVIEW

The X713 is now establishing the Xn>123, which states, X?2 W2 Mx»n IRW2 92N
Nawan M3ann, in a case of "'y where he was 0 9,! so by 1"v he is 21 (for he is
a 2W), and by naw he is Mwd. Our MdOIN explains why N1 MK, is considered a
A, when elsewhere we find that 27 MR is not considered to be a aw.

Mmoo responds to an anticipated difficulty:
= 4959 9IIND 2099 2NNV (0w 3,1 97 HNT /2 P92 1PVYNT RN

And this which X217, in the second p=p of n1>» noon, excludes from the word
a3, except for NI MIR where the killer does not go into n2x —

mooin replies:
= 01NN 29N NNYA SXIVT MY 23) INY

It is different by n3, since the word 723w is written there many times —

moon proves this distinction of how many times 73w is written:
=702 90 NN JAN NN (0w 3,9 97 RNOP NI2T /2 P99 9102 99N ) 190D

And therefore 1727 also said in the end of the second 99 of »''2 noon, ‘if he had

s stone resting in his bosom -
- $9WAN) 7909 MY PIYY BN NA 9910 K

And he was never aware of it; regarding nx he is w2’ we derive this 7w

from 73aw2, and this is not considered W -
= NAYNN NINDN 129Y2T DIVN 91V NAVY Payd

' See X9X 71"7 2" who writes, 71907 X922 23w 7°% P71 ,7702 'Y PRY M0 227237 P2 AN I3 132, See however '0n
7v 1"7 [TIE] footnote # 6] who interprets N R to mean YW 7 111 AnHynI.
23,72 ("yon) 1273 reads. T3WR W) 7An 0¥T MRV 03] 07 AT LYPR W oY 037 anpm).
3 If one was not aware that killing is prohibited, and he killed someone (willingly), he does not go to m%3, for this is
not considered a maw, rather, explains X237, he is a 7% 21p, and therefore not included in 7awa.
4 The question is how can we say here by 1"v that if he was an 0% X, so he is considered a 3w and 21 a 1277,
when regarding m> we say that an 1N X is not a 2w, but rather a 79T 217p.
3 See 10,77 (°von) 127ma where it states, WD) 731 92 MY 0N VIPRY TPRT MWI WY 1300 02N AWIR?) 132) DRI 127
7333, See XPK 71"7 2,7 N1 M©ON who writes, N MR WIWAD RN AW 2°N07 837 *IRWT. The word X2w here is to
be understood to mean more than once. See ‘Thinking it over’ # 2.
¢ Therefore since maw is written an extra time it teaches us that by m73 an N X is excluded from being
considered a xw, however by 1"V (and other 2°110°R) where 2w is written only once, we do not exclude an R
ann, rather on the contrary an I X is considered a aw.
7 If this (unbeknownst) stone fell out of his bosom and kills someone accidentally he is nM2an 105.
8 The X7na there does not write (that he is 719 because of) maswan. See however "W there Mo 7"7, who writes, 237
QYN 772 7727 RY 71 RIPOWA 7T 91T RO ROR AW P00 RYY AW W3 7701 2900 M.
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‘Regarding carrying it on naw he is ™y, for we require a nawnm norx’,” which

this is not (since he is not aware that he is carrying a stone in his bosom) -
= 1085w1a 2515 ) NAY 22)T 7YY PIDIN ROV

But now that we exempt him from Mm% because of 72w3, let us derive that by

naw it is also written 7aM3, so he is Mo for the same reason that he is MW from N3, why

offer a new reason of N2WRN NIXIA -
SNV NIV 229N0T OVN 111)’\7)”3?3 mb) »a) NPT IR NYN

Rather we must conclude with certainty that only by n¥s do we exempt this
type of aWw where 12 7°077 R, because regarding mbx the word a2 is written

manty times, however by naw since it is written only once, if not for nawnn nax the case of
72 72377 X2 would be included in maw.

SUMMARY
an MR and 72 9°07 8% would not be excluded when the 770 writes 73w once (by
1"v and naw), but it is excluded when the 70 writes 7aw twice (by n193)

THINKING IT OVER
1. How is it that one extra mawa excludes two cases;!? a0 X and 72 7707 ®Y; it
should seemingly only exclude one!?® and no more?!

2. Regarding 1"y the 77110 writes 733w2 more than twice,'* so why is it any different
than M3 concerning N IR

 nawnn noxo»n means ‘thought out work’, which is planned. See 37,7% (?1p™) Maw where the 77N writes regarding
1ownn noRDA that nawmn naxbn 952 mwy?. We know that the naw nioxon v"o are derived from the 1owna noxon,
therefore they too must be nawnn naxon. If it was 72 719377 RY, it certainly is not a nawnM NIRM.
10 This does not mean that there is an explicit P05 by naw, which states that he is 2’11 a nxon 1279 if he did a 798
A3, rather it means that regarding a nRwvn 1272 the 770 writes (in 12,7 RAP™) that "3 a2 XVAN NAR WH1 oXY; this
refers to naw 217 as well as to any 73772y, for which there is a n15 2rn.
' We derive from that 823 that when 733w is written many times it limits the case of 733w; it excludes 1 M8 and
it excludes 772 7377 X7. However in other places where 733w is written only once, it includes 207 97X and 72 7°37 R>.
See ‘Thinking it over’ # 1.
12 See footnote # 10.
13 In fact 9nm ™R is excluded because it is 7112 17 (see footnote # 3) and 72 377 K7 is excluded because it is less
than a »w (see footnote # 8). How can we exclude two opposite cases from one P105?!
14 See v3-19,10 (M7w) 73712 (regarding 1"v) which reads; 9931 12 .NRYD? ANIY N2 1Y 12°1p7) 7MW NUTH NOX WH3 OX) .15
AY? 097 7T NOX 7R 07102 13T M32) PRI 7332 MYRT 0 T2 M201] 1RV 927 MY *197 MR TNODI NI wH3d Yy 1053
e e
15 Surprisingly, there is no one (to my knowledge) who asks this question.
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